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[Chapter = 5] [Arithmetic Progressions)
[Class 10)

Question 19:

200 logs are stacked in the foflowing manner: 20 logs in the bottom row, 19 in the next row, 18 in the
row next to it and so on (see Figure). In how many rows are the 200 logs placed and how many logs are
i the top row?

E Answer 19:

Number of logs in bottom row = 20, logs in next row = 19, logs in next row = 18
Similarly, the series of number of logs is 20, 19, 18,17, ...

Here,a = 20,d = 19 - 20 = -] and 5, = 200.

Thie sum of n terms of an AP is ghven by i,,-}l::rw{rtut}d]

= 200 = %[zcm + (n—1)-1))

= 400 = |40 =n + 1] = 400 = 41n - n*

=’ —4ln+ 400 =0 =0 — 160 — 250 + 400 = 0
=hh=16)-25(n=16)=0 = {n-16){n-25)=0
mn=16=0 T n=35C=0

=p = 1k g1 n=25

if,in= 16, =a+ 154 =204+ 15{-1) =5

If,n = 25, gyg = a + 24d = 20+ 24(=1) = =4, which |s not possible.
Hence, the 200 logs are placed in 16 rows and 5 logs are in the top row,

Question 20:
In & potato race, a bucket is placed at the starting point, which is 5 m from the first potato, and the other
potatoes are placed 3 m apart in a straight line. There are ten potatoes in the Hne [5!-5 Figure).
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A competitor starts from the bucket, pichks up the nearest potato, runs back with it drops it in the bucket,
runs back to pick up the next potate, runs to the bucket to drop it in, and she continees in the same way
until all the potatoes are in the bucket. What is the total distance the competitor has to run?

[Hint: To pick up the first potato and the second potato, the total distance {in metres) run by a
competitoris 2= 5« 2 « (5 = 3))

£ Answer 20

Total distance travel to pick the first potato = 2 x5 = 10

Total distance travel to pick the second potato = 2 % (5 + 3} = 16

Similarly, the series of distances travelled to pick the potatoes are 10, 16, 22, 24, ...

Here,a =10, d = 16— 10 = Gandn = 10,

The sum of n terms of an AP is ghven by 5,-E|Eu+n[n—i}dj

10
= 5y = -E—[Ifll.'l:l +(10=1}6)] =5204+54] =574 =3M0m
Hence, total distance travelled by the competitor is 370 m,
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(1) | 3 8
(i1) — 18 10 0
(111) —3 18 —:3
(1v) —18.9 2.5 3.6
(V) 3.5 0 105
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a+dd=3

Again paiiting the eq.fiai) and {iv), in eq. (), we get,
fas2dixia+bd) = B

Puiting ihe value of a from equaton (vi. we gei,

{ 3—ad +2dii I-dd+Oud) = B

(12l il = &
F-id el
§-dd =g
ddi=1

d= 12 o102

Mow, by putting both the valees of o we gat,

a=d-dd=3-H{liZ)=3-2= 1, whend= [i2
azdi-dd=z3i-H{-1R =425 whend=-102

Wi konow, the sm of mh term of AP is;
S =nf2 |20 i - 1)

Lo, whena= 1 and d=172
Then. the sam of first 16 enms ane;
Seem TO2[2 #{16-1)112]) = B2+ 152} m 76

Amd when o= 5 amd d= - 172
Then, the sum of first 16 terms ane;
Sin= 1602 [2.5+(16-1)-112)] = BUS2)=20

XL A ladder has rungs 25 con apart. isee Fig, 5.7L The rungs decrease uniformly in lengih from 45 com ool the
2tm

hoatom 1o 25 cm st the top. If the top ond the bottom rungsare  © apart, what s the kength of the wood

required for the rungs? [Hint: dumber of rungs = 230725 |
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16, Which term of the A.P, 3, 10, 17,... will be 84 more than its 13™ term?
Solution:-
Friom the question it is given that,
First terma= 3
Common differenced = 10-3=7
Then, Tiz=a + 12d
=3+ 12(7)
= 3+ B4
= B7
Let us assume that, n™ term is 84 more tham its 13™ term
50, T,=E4+ 87
=171
We know that, T,=a+{n-1]d= 171
34+ (m-1)7 =171
3+Mm-T=171
In—4=171
Tn=171+ 4
In=175
n=175/7
n=25

17. (i) How many two digit numbers are divisible by 3 7
Solution:-
The twao digits numbers divisible by 3 are, 12, 15, 18, 21, 24,......99.
The above numbers are AP,
Lo, first numbera = 12
Common difference d=15=12=3
Then, last number is 99
We know that, T, {last number)=a + (n - 1]d
99=12+(n-1)3
99=12+3n=13
99=9+3n
99-9=3n
Anm =90
n=90/3
n=30
Therefore, 30 two digits number are divisible by 3.
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n
5o =5 120+ (n—1)d)

Si0 = 5[4+ 45] = 245

n
Su =3 [2a+ (n—1)d]
12 %
25y =FREITHUZ-DE) =50 =6]-74+44] = -180

() AP 05 17, 28,
Here,a < Qandd = 17 - 0.6 = 11
“The sum of n terms of an AP is given by

= :_| 2+ (n— 1)d]

00
F100 = lIL| 2(0.6) + {100 — 1)(1.1)] = 5y00 = 50[1.2 + 99 % 1.1] = 50[110.1] = 5505

5, = [2a+ (n - 1)d]

\" ulz‘w‘ H[UI 33
=Tl =Tl T w

() Here, a d=10l-7=2_7]
Let. then i o
Therefor n—1)d =84

n?-[-\rl]G]'Ul =a-D(Z)=77 sa-1=22 =a=2
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)11n()11n(2112n =)21521n()421())12-()12()1 )11n()11n(44d )111n( 21212 = 22n = 22121n + f2125n()562n( )460 = n52n( 421()566 0 = n83430 = 66(40 = n5 + 2n77 +21 + n A 636 =)01 + n8(n \636=]101+8[}2{n{}2{n{crf\(\)\636=18-n 8+81[}}2{2{crf\(\\636=18)1-n(+9 x\ 2[}2{}n{crf\=}n{ SO\ld)1-n(+a 2[}2{}n{crf\=}n{S(.ffid ,n A12 nA
82 1S(1 A ,51,7 ?8 ed solpitl2Am 51 soremirp sol¢A :n3AiculoS ?= S¢A ,?=n,94 =na2 =13 =1a3a=d,l = a .etnatsnoc se »Aad«A ed rolavle ,AuqA 4 = 11 51 =2a3a=d4 =7 11 = 1a 2a = d .esalc adac ed senoicces sert yaH ?= 51S ,51 =n 8 =81 ¢A 61 =lal¢A2a=d,8 =a,AuqA .9 atnugerP 0165 = 155,011 a 15 = )\022 sopmeit\
}2{}15{carf\=(\ )\]002+02[}2{}15{carf\=(\)\14 sopmeit\ 05+02[}2{}15{carf\=(\ )\]4 )1-15( +01 semit\ 2[}2{}15{carf\=}15{ S(\ )\ld )1-n( +a 2[}2{}n{carf\=}n{ S(\4 =d,01 =a 0l =a «A4«A41 =a4l1=4+a4l =d + a)i( ?sovitucesnoc solucrAcimes ecert ed atseupmoc laripse lat ed latot dutignol al se 1ljAuC¢A . lAratnalp esalc adac ed
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roditepmoc le euq latot aicnatsid al. ¢A¢A .081- = 21S 'A¢A 03- AA 6 = ]44 + 47- [6 =14 AA 11 + 47-[6 = \]4 )1-21( +73- semit\ 2[}2{}21{carf\ 121{ S(\\Id)1-n( +a 2[}2{}n{carf\=}n{ S(\4 =d,21 =n 73 + 33- = )73( »AA¢A 33- = d,73- = a :n3AiculoS .41 atnugerP 069 = 51S '¢A 46 A a 51 = )\821 semit\ }2{}51{carf\=(\

N211+61[}2{}51{carf\=(\ )\]18 semit\ ,94 ,94 = eht fo mus eht fl .ereH .AAA¢aAAA¢ eb ezirp tsrif eht teL :noituloS .3 = a :noituloS .A!AA¢A!AA¢ + 52 + 71 + 9 :noituloS ?636 fo mus a evig ot nekat eb tsum A!AA¢ ,52 ,71 ,9 :PA eht fo smret ynam woH .m6 = 01 AAA¢ 61 = d ,01 = a otatop ht01 m22 ,m61 ?mret dnoces eht si tahW .1 noitseuQ 3.1
esicrexE snoissergorP citemhtirA 1 retpahC snoituloS shtaM 01 ssalC CLSS akatanraK .3.1 esicrexE snoissergorP citemhtirA 1 retpahC snoituloS shtaM 01 ssalC CLSS akatanraK nevig evah ew ereH .27 = 9S,5=d )v8 = 0la A AA¢ 9 AAA¢ 71 =)1- (9+71=d9 +a=01la A AA¢ .mc 5.0 iidar fo ,A ta ertnec htiw gnitrats ,B dna A ta yletanretla sertnec
htiw ,selcricimes evisseccus fo pu edam si larips A .gif eht ees( no os dna ti ot txen wor eht ni 81 ,wor txen eht ni 91 ,wor mottob eht ni sgol 02 ?=3a,?=n,09=nS8=d,2 =a)iv82 =9a A’AA¢ 04 + 21-=5AA 8 + 21- =)5()1 AAA¢ 9( + 21-=d )1 AAA¢ n( + a = 9a 21- = a A'AA¢ )\}2{}42- {carf\ a(\42-=a2 04 AAA¢ 61 =a261 =04 + a2
)\}9{}2{carf\ semit\ 27=04+a 2(\ )\27 104+a 2[}2{}9{Carf\(\ N27=15 semit\ 8+a 2[}2{}9{carf\(\ )\27 15)1-9(+a semit\ 2[}2{}9{carf\=}9{ s(\ )\]}d{mrhtam\ )1-}n{mrhtam\(+}a{mrhtam\ 2[}2{} }n{mrhtam\{carf\=} }n{mrhtam\{ }s{mrhtam\(\ :noituloS .01a dna AAA¢dAAA¢G dnif .neht 0 = 7 AAA¢ nfl0=)2+n()7 AAA¢ n(0 =)7 AAA¢ n(2 + )7
AAA¢ n(n 0 = 41 AAA¢ n2 + n7 AAA¢ 2n 0 = 41 AAA¢ n5 AAA¢ 2n2 41 AAA¢ 0 = 82 AAA¢ n01 AAA¢ 2n2 0 = 82 + n01 + 2n2- 82- = n01 + 2n2- )\41-=101+n 2-[}2{}n{carf\(\ )\41-=14+6+n 2-[}2{}n{carf\(\ )\012=]thgir\}n{_ a+a[tfel\}2{ }n{carf\= In{ S(\)i(.521 = 01S ,51 = 3a )vi 642 = 2S A’AA¢ 173 + 4[6 = \]73+4[}2{}21{car\=}21{ }S{mrhtam\
(\ )\lthgir\}n{ a+a[tfel\}2{}n{carf\=}n{ S(\4 = a A’AA¢ 33 AAA¢ 73 =a A’ AAﬁ 73=33+a73=3AA11 +a73=3)1-21(+ ana = d)1 AAA¢ n( + a .ylralimiS .521 = 01S ,51 = 3a nevig )vi .smret 9 latot era ereht dna 441 = S ,82 = L nevig )x .m01 = .smret 21 ot ?= 94 + A!AA¢A!AA¢A!AA¢ + 7 + 5 + 3 + 1 era 05 dna 0 neewteb srebmun ddO
:noituloS ?= 115,982 =) \} {3} {8 carf\ =51} {04} {carf\=p (\04p51 =5AAA¢54=p51p51=54+5=54d)1AA¢61(+5=6lad)1a€"aaa}l {}{}=05 éh-éh-af 004 = 05 Semit\} 2 {} n {carf\\\\\\)n { a+ a[tfel\} 2 {} n {carf \"} 9=4€")'AA ¢ .31SDNAA ¢ A A d dnif, 31A = 53, 7 = to nevig) ii .nS DNAA A A ¢ A ¢ the dnif, 05
=the AJ/A€ ¢4 SUBHASchaSchaSch€¢ {}71{}61}A2(\)\982=]D61+a2[}2}=(N))D)1Inl1[+a2{}71{} () 1nCarfar\=}n{\)i(das'aSgiom€ ¢aVacha[} 7 {} 2 {carf\94=D6+2s2\)D)1-7 (\) 1-7 (\) 1-7 A2 [} 2 {} 7 {carff {} {} {} n} 1-N hcihw Ni .02 noitseuQ .yad gnideecerp eht rof naht erom 05 .sR gnieb yad gnideeccus

hcae rof y Tlanep Eht .4 &4E '€ ¢ aVach, 3A, 1A21 + 3=3ad'har.f4 +3=3An4 + 3=than11A-¢ 8+ 3 =2an4+3=1A7=1A7=1A7=1Ana"-¢4+3=)1(4 + 3 =1an4 + 3 = na-) i: Woleb S Denifed Si 11a Erehw PA of MROB &4 € - 042 4h--34a 6 6 9f0a 004000000034 003340a0a000a000000004a00004a00 033333400000 0a
040836 000000400a000000000038400000038600000000\]16) 1-04 (+6 Semit\2[} 2 {} {cart (\) =} n { s (\ .m5 + 3 + 5 = otatop Dnoons eht} noitulos smrett) \ 11} ot {TXET \, STOODH \,} 1 {carff {carff {carff {carff {carff} 51} 1.0118h-00000000000 2.2.1[05=)) 1.1 () 1-001 (} 1-001\) { S(\)\Id)1-n(+a2[}, ns)IV.3
=A=1sa-¢3=1s1aA"a44444a44a4¢€ ¢ (?) And sitaht (Mret TSRIF EHT SI THW, 2N € € ¢ ¢ s n\ MathRM {D} =\ Frac {8} {3} \) Question 6. Find the sums indicated below: i) \ (7 + 10\ Frac {1} {2} +14+ \LDOTS \LDOTS + 84 \)ii) 34 + 32 + 30 4 - ... ... + 101iii) -5 + (-8) + (-11) + - ... ... ... A2=14A+D=14-... ... ... If you have delayed

work for 30 days? \ (S_n =\ frac {n} {2} [2 to + (N-1) d] \) \ (\ dot {\ mathRM {s} 30 =\ frac {30} { 2} [2 \ Times 200+ (30-1) 50]\) = 15 [400 + 29 A- 50] = 15 [400 + 1450] = 15 Af-1850 A ,30 = RS. 27750. Question 19. SOLUTION: A3 = A + 2D =15A,'a=15-2D\(S_{N =\Frac {n} {2} [2A + (N-1) D]\)\ (S_{10} =\ FRAC {10} {2} [2 (15-2
d)\ div (10-1) D] = 125\) =5[30-4D + 9D] = 125 =5[ 30 + 5D] = 125 150 + 25d = 125 25d = 125 + 150 25d = -25\ (\ mathRM {D} =\ FRAC {-25} {25} \) A ¢ 'D = -1. And the other potatoes are placed at 3 m away in a straight line. + an =636a=9,d =17-9 = 8, SN = 636, n =? FND The sum of the odd numbers between 0 and 50. D =-3 A +
m"1)D=AN-5+(NA¢4a =-"1)(-3)=-230-5-3N+3=-230-3nA ¢ 4 —"2=-230-3n=-230 +2-3n = -228 3N = 228 A ,'N = 228/3 A,'N = 76. SN = 210, find 4, 4, ~ n'and A ¢ 4, = "'.\ (\ mathrm {s} {\ mathrm {n}} =\ frac {\ mathrm {n}} {2} \left [\ mathrm {a} + \ mathrm {a} {\mathrm}} } \ Right]\)\ (S {76 =\ Frac {76} {2} \ left
[-5-230 \ right] A ¢ \)\(=\Frac {76} {2} \ Times -235\) = 38 4 £ - -235 A,'s76 = -8930. Solve: 6 + 12 + 18 + 24 + 40 Term AquaA=6,D=2-A1=12-6 =6 N =40, S40 =? To find A ¢ 4 — "A, 4, - 'and a. Find the number of terms and the common difference. The 200 records are stacked in the following way. And the second prize is a" 20 and
third Awardisa40. A+ (mAAA4 -"1)D=A5+(nAAA¢-"1)3=505+3NA¢4 —-"3=503N+2=503N=+50A4, -"23N =48\ (n=\Frac {48}} {3} VA ¢ 'n=16\(S_} =\Frac {n} { 2} \left[a + a_{n} \right] \)\ (S 16 =\ frac {16} {2} [5 + 50]\) \ (= \ Frac ,?=,?= n .lobrjA 1 ©Aratnalp I esalc ed n3Aicces anu ,.G.E ?= 7s,7 =n
02-=dA"02"-a¢Aa=1a"-a4¢A2a=d,a=a7=n.2=aadad)iv.mc0.1 m61=8-A2=)3+5(2=3-A2+5-A2=.044 =61S'A55-A8 =)\]155[ }2{ =? And the sum of the PAs falling: i) 2, 7, A7, A 10 A to 10 terters ii) -37, -33, -29, A 29, All A. In the future. Solution: If Sn = 4n An2, theni)S1 =a=?a=0.6,d=1.7AAPlus 0.6 =1.1n =
100, S100 =? Solution: If a2 = 14, a3 = 18, then S11 =? terms. \ (S_{n}=\frc{n}{2}[2 a+ (n-1) d]\) \ (\materm{S} {12}=\frc{12}{2}[2 \x 3+ (12-1) 3]\) = 6[6 + 11 States 3] A = 6[6 + 33] = 6 Bits A Card S12 = 234 Total number of letters in each class to 12 234. How many times do you do it for the study? Rs. 250 per second day. If each price is Rs.
20 less than your price in advance, find the value of each of the prizes. iv) \ (\frc{1}{15}, \frc{1}{12}, \frc{1}{10} \ldos, \text { a } 11\) terms Solution: i) of, 2, 7, 12 A, A1m A, A6.8 + 14 + 24 + A 24 + A 5 terms. 15 terms. iii, 1.7, 2.8, A2,A 0 A, 100 terms. The first and last terms of a PA are 17 and 350, respectively. + (-230) Solution: (ii) + 32 + A
+ 30 + A 34 A. Solution: i)a=5,d =3, y= 50, etc. (11) 10d = 20 Substituting the value of d in equation (i), we have 2a + 6d = 14 2a + 6 WithA2=142a+12=142a=122a=14A2a =2\ (a= \frc{ 2}{2}=1\)a =1, d = 2 A;Sn =? Solution: \ (S_{n}=\frac{n}=\frac{2}[2a+n-1]\) \ (=\frac{n} {2} \times 2+ n-1) 8]=90\ (\frac{n}{2}\times 2+ n-1)
8]=90\ (\frac{n}{2}} 48 8]=90\) n (8nA4) = 90AA2/18n = 2/18n = n1802 = n28 002 = 20 022 202 022 020 202 005n = (n50 A 0 550 000 005 000 500 000 050 005 000 000A05)=05)=0Sin9) A0Onnnnnnnnnnn=>50ttn50. Yearn+ (n=1)d (5 + 41)d(5+41)828A5=34vi)a8A5=34vi)ag an =62, n=210,n=?n =210, n.
ii) S2 =? with sauce). The value of A is still A in A eqn. Show, al, a3, A.c2, a{al, a3.{c2}all,d=7A2=5n=10\ (S_{n}=\frac{n}{2}[2 a+ (n-1) d]\) \ (s_{10}\frac{10}{2}[2 \times 2] (10-1) 5]\) = 5[4 + 9 Ami A 5]1=5][4 + 45] = 5 Fiz Fiz 10 = 245) -37, -33 A, -29 \=\Fra= (Fras) n}{2}[2 a+ (n-1) d]\ (S_{8}=\phrases c{8}{2}[2 \x 3+ (8-1) \ (\ frac
{8} {2} [6 + 7 \times d] =192\)4 (6 + 7d) = 192\ (6 + 7d =\ frac {192} {4}\)6 + 7d =48 7d =48 A¢ 4 "6 7d =42\ (d =\ frac {42}} {7} VA'd=6%x)1=an=28,s=144,n=9,a =? D =?, A10 =? (iii) a2 =?iii) 0.8, 1.7, 2.8 to 100 tA©. If the difference comNo is 9, how many terms is there and how much is its sum? Find A¢ & ¢"'. Solution 3: A
=5, A =45, SN = 400, N =?, D =? If you have any questions regarding Karnataka SSL.C Class 10 Maths Solutions CapAtulo 1 Aritm Progressions Exercise 1.3, please leave a comment below 3 we will contact you as soon as possible. (ii) a = 7, A13 = 35. Solution 3 n: \ (S_ {N} =\ FRAC {N} {2} \left [A + A {N}\Right] = 210\)\ (\ frac {n} {2} [8 +
62] =210\) \ (\ frac {n} {2} \ times 70 = 21 \) \ (n = 210 \ times \ frac {2} {70} \)A¢n=6A=62A6=A+5D =628 +5D=625D=62-8d =54\ (d =\ frac {5} {5} \) VIII) A=4,D =2, Sn = -14, n =?, A =? viii) given a = 4, d = 2, sn = -14. A sum of Rs. 700 must be used to give seven cash prizes to students of a school for the general
performance of the worm. 1,5 cm, 2,0 cm as show in FIG. d = 3. b respectively.] Solution 3 n: \ (: L_ {1} =\ PI\ TIME \ FRAC {1} {2}, 12 =\ PI\ Times 1.13 =\ PI\ Times \ Frac {3} {2 } )\ (I {1} =\ frac {\ pi} {2}, \quadl {2} =\ mathrm {p}, \quadl {3} =\frac {2} {2} \ pi \)¢ 'progressiA 3 n aritmA®©, L1, 1.2, 1.3, L4, A¢ & ...A 4 .. ... there are
ten potatoes in the line (see Fig, given below?® a competitor starts from the cube, picks up the nearest potato, runs back, drops, the cube, runs back to pick up the next potato, runs to the cube to drop it, and it continues the same way until Al) the pots are in the cube. . Question 18. In a PDB: (i) Given at = 5. A contract in the construction work 3
specifies a penalty 3 the Dela finalizacia®nS allajaDe unaFecha de La Guiente manera: Rs. 200 por el primer daA. \(S_ {n} =\frac {n} {2} [2 A + (N-1)D])\(S_ {N} =\frac {n} {2} [2 \veices 1+ (n-1)2] \\(= \ frac {\ mathrm {n}} {2} [2 + 2\ mathrm {n} -2]\) \\(= \ &quad \ frac {\ mathrm {n}} {2} {2} [mathrm {2} {2} {@mathrm {n} = n2
Question 10. (iii) -5 + (-8) + (-11) +A¢A A ¢ A¢A A ¢+ (-230) Solution3n:a=-5,d=-8(-5) =-8+ 5a, =-230.d=6 A¢A3 =3,n =12, S12 =? Solution 3: \ (s_ {n} \frac{n}{2}\1eft[a+a {n}\rlght]\) \ (s_{9}=\frac{9}{2}[a+28]=144\) \ (\frac{9}{2}[a+28]=144\) \ (a+28=144 \times \ frac{2}{9}\) a + 28 = 32 a = 32 A"28 A"a = 4. Questi® n 1 What is
the total distance the competitor has to travel? (Tip: To collect the first potato and the second potato, the total distance (in meters) traveled by a competitor is 2 A 5+2A A (5+ 3)] SoluciA 3 n: Total distance taken to collect the first potato = 5 + 5m =2 A 5m. (v) al0 =? A¢ A¢ an = 3 + 4n forms a ProgressiA 3 n Arithmetic. (ii) S2 = 4n A2 S2 =
4(2)A"22=8A"4S2=4A"S2 =4A"S2 =4 (iii) Wehave S2 =al +a2 =4=3+a2=4A"a2 =4A"3"a2 =1 (iv)Sn =4nA"n2S3=4(3)32=12A"9S3=3al +a2+a3=33+1+a3=34+a3=3A"a3=3A4a3=-1wv)d=a3=-1-1=-1al0=a+9d=3+9(2)=3A¢A"18al0=-15A¢A"al0=-15(vi)an=a+ nA¢A"1)d=3+ (n
A¢A" 1) (-2) = 3 + 2n + 2 A¢A" an = 5 A¢A" 2n Question 12. KSEEB SSLC Class 12 Mathematical Solutions Chapter 1 Arithmic Progressions Ex 1.3 are part of KSEEB SSLC Class 10 Mathematical Solutions. a section 3 Class II to plantA 25 trees and so on until Class XII. At one school, students thought about planting trees in and around the school to
reduce air pollution® Question 11. Find the 3rdrd on the day and on the day. Solution 3: an = a + (n A"l)d=4a+@mA"1)2=4a+2nA"2=4a+2n=4+2a=2n=6A".ix)a=3,n=28,S =192, d =? find A"aA" and S12. (Take \ (\pi=\frac{2}{7}\)) [Suggestion: The length of successive semicUrcles is 11, 12, 13, 14 with centers in A, B, A. a9 =?
Solution 3: d = 7, a22 = 149, S22 =? A S13 =? How much money the contractor has to pay as a penalty® d = 8, Sn = 90, fInd and A11 A11 A11
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